[image: image15.jpg]




[image: image2.png]alfa
beta

ama
delta
epsilon
dzeta
eta

teta

Tu

2 o wm =z =z > =
| 1 ™o g & o

jota
kappa
lambda

psi

omega




[image: image3.png]Dievas sutvéré Zmogy - Adoma ir leva.





[image: image4.png]



[image: image5.png]~
\\\

/ g /Y i |

e
==





[image: image6.png]



[image: image7.png]



[image: image8.png]



[image: image9.png]



[image: image10.jpg]



[image: image11.png]



[image: image12.png]



[image: image13.png]



[image: image14.png]



[image: image1.png]



